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514400 12888
BESE | & R 255 fEE
01 5EO4 Ll 111113 =F A4
02 0 = 111171 ZHEAH
03 =oF: 5l 111030 =EAMWH
04 £01g =) 111031 ZFEAH
05 HOE 5 111005 =EAHE
06 gl01g 94 111146 ZEAL
07 FEOF # 111090 =AM
08 RO e 111062 ZEALH
09 O e 111148 =EALE
10 RO e, 111093 ZEAH
11 BOMH B 111011 = A4
12 kO & 5 111063 =FEAH
13 PO EE 111122 ZEAH
14 B O#F B 111066 =AM
15 HO5E Z 111128 =FE AL
16 O 2z 111102 ZEAHE
17 %50 #F Z 111157 ZEAMH
18 O/ Z 111021 =EAHE
19 S04 Z 111172 ZEAH
20 HORE Z 111135 ZEAH
21 PO B Z 111078 =ZFEAH
22 O 8 111136 ZFEAH
23 B OFF Z 111163 ZEAH
24 pel Z 111081 =HFE AN
25 #HOR 58 111052 =EAMH
26 BEOHE 7 111055 =HFEAMH
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5132 13N

BESE | | MR 255 st
01 BOE 5 111141 =F B4
02 ZI0F 5 111177 =F B4
03 KO% % 111114 =F B4
04 i=30): i % 111034 =F B4
05 £Z01g 5 111060 =% B4
06 O % 5 111118 =& B4
07 RO4L 5 111119 = B4
08 O % 111121 =F B4
09 FOF % 111094 =% B#H
10 % O0E 5 111150 =F B4
11 ROk 5 111065 = B4
12 £0R 5 111096 =& B4
13 HO=E e 111154 =F B4
14 SLORR 8 111044 =F B4
15 FFO4F Z 111045 =% B4
16 #EOR 8 111101 =FE B4
17 FOE 8 111075 =HFE B4
18 #HOHE % 111173 =F B4
19 HOM 2z 111048 = B4
20 HOE % 111134 =F B4
21 BROME Z 111106 = B4
22 FOE % 111107

23 BROZE 8 111026

24 BB O Z 111164

25 gOox= 2z 111180

26 RKOR Z 111167
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51440 13 AT
JRE 5% % PER 2% st

01 L0 e 111085 =% CH4
02 BOXK 5 111032 =ECH
03 ROR = 111115 =ECH
04 EOH 7} 111004 =ECHE
05 FO% £ 111007 = CHH
06 OB = 111147 =ECH
07 MOy =2, 111123 =FECH
08 HOOR g5 111038 = O
09 £ 0 & 5 111040 =HECH
10 208 % 111095 =Ecd
11 BEO#E o 111013 =% CH4H
12 FFOE =, 111068 =HECH
13 FO8# I 111097 =ECH
14 PO % I3 111071 =FECH
15 B OFF 2z 111016 SEECH
16 FomE 8 111156 =5HECH
17 OB 2z 111168 =ECHH
18 5RO Z 111130 =4ECH
19 O 2z 111132 =ZHECH
20 Cifok= 2z 111047 =HECH
21 HEO B 2z 111158 =HECH
22 210 % 2 111079 =FEC4H
23 #O% Z 111159
24 FO0i 2z 111178
25 = O ff Z 111080
26 #HOm 2z 111049
27 O O 2z 111054
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5132 14 EHE
FESE e PER 257 -E28
01 £E0% I 111001 =FED4
02 O = 111029 =% D4
03 BEO B 111142 =EDH
04 EYo} s, 111143 =#D#
05 MO 5 111061 =FED4
06 FE50 O3 5 111035 =EDH
07 BEOO% 5 111144 =ZEDH
08 8 0¥ 5 111009 ZED4
09 #FORE 7 111149 =#£D#
10 Bo# 5 111042 =% D4
11 PO % 5 111067 =% D4
12 oW B 111126 =FE D4
13 EORL B 111098 =£EDMH
14 BEO% Z 111073 =F£ DM
15 OR 2z 111129 =EDH4H
16 # O % 111103 =ED4H
17 Bf O 41 7 111020 =% D4
18 O 7 111104 =% D4
19 508 gy 111105 =% D4
20 #OR zZ 111179 =#£DH#H
21 O g7y 111175 =ED4
22 PO g8 111024 =FD#H
23 FROER 2z 111176 =% D4
24 SO%E 58 111110 =ED4
25 O, Z 111174
26 BEO% Z 111082
27 E O Z 111111
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5132112 AR
JRE 5% H& PER 5k g2
01 #hO% 3 111140 =FE4
02 B OE ) 111058 =FE4H
03 WHO=E = 111086 =HFE4H
04 FOH 5B 111087 =4 E4H
05 #O#F 5 111003 =FE4
06 # O 5 111033 =FE4H
07 BROR % 111006 = E4H
08 B Ok 5 111088 =FE4
09 EO#F 5 111092 =FE4H
10 EOR 5 111120 =FE4
11 FoH B 111008 =HFE4H
12 BEO® 5 111153 =FE4
13 o= 5 111014 =FEE4H
14 - Je} = z 111019 =FE4
15 O % 111046 =4HE B
16 FOB 2z 111022 =4 E4H
17 RO 2L 111133 =S E4
18 STOfY z 111077 = E4H
19 B O#E 2z 111051 =FE4
20 E=opr z 111165 =4 E4H
21 HOZ g8 111053 =HFE4
22 O % 111083 =HEH
23 TO%E 2z 111138 = E4H
24 HO%E B/8 111166 =FEQ
25 O 58 111028 =HFEHE
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%1322 0 13 A
FESE 5 PR 2ok fsE
01 %OE 5 111057 =fFF&
02 BRO%E 5 111002 =FF4
03 BROfh = 111116 = F4H
04 % O 7 & 111036 =& F4
05 0yl = 111091 = F4
06 L foF-3 B 111010 = F4
07 RO = 111064 = F4H
08 E O & 111124 =FEF4f
09 HOE 5 111012 = F4
10 HOA 5 111151 = F4
11 BOfH 3 111015 =& F4H
12 BEO = 111041 = F4
13 BOR B 111069 =4 F4
14 B O . 111099 = F4
15 PRO%E 528 111155 =4 F4
16 TOE kS 111100 = F4
17 EOsE % 111017 = F4H
18 kO 8 111074 —FEF4
19 HOM °8 111131 =FF4H
20 ZZ O g8 111025 =4 F4H
21 anel:7 524 111137 =& F4
22 B O%F 578 111050 =FF4
23 BHOW 2% 111108 =FEF4H
24 FOJE 8 111027 =HEF4f
25 O 528 111139 =#F4
26 BO% g8 111056 =HFH




